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QUESTION 1

What three main components comprise the Nuage Networks VCS solution?
A. VSD, VSC, and VSG

B. VSD, VSC, and VRS

C. VNS, VSC, and VSG

D. VNS, VRS, and VSG

Correct Answer: B

Reference: https://www.nuagenetworks.net/products/virtualized-cloud-services/

QUESTION 2

Which of the following is NOT Nuage Networks metadata required when creating a virtual machine?
A. Enterprise

B. Subnet

C.VLANID

D. User

Correct Answer: C

Reference: https://nuagenetworks.github.io/2016/03/25/Migrating-ESXi-Workloads-to-Nuage.html

QUESTION 3

Which of the following is NOT an improvement provided by the backhaul VPLS?
A. Reducing the number of EVPN on the HV.

B. Reducing the number of VXLAN tunnels.

C. Reducing the size of MAC address table.

D. Reducing the consumption of bandwidth.

Correct Answer: B

QUESTION 4

What is NOT a requirement for modern data center networks to facilitate cloud computing?
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A. Multi-tenancy

B. Network automation

C. Virtual machine live migration
D. Network function virtualization

Correct Answer: D

QUESTION 5

Which of the following is a solution to create virtual machines in which the server runs the hypervisor as a specialized
operating system and, as a consequence, there is no need for a conventional operating system?

A. Kernel

B. Container

C. Native hypervisor
D. Hosted hypervisor

Correct Answer: B
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